BE-EE-rEEEEES BB
£ 6 4 (2024%) 12 A 16 H
#H B B & ¥ T
[f%FF)
T % A K & F ¥ £ &t
<URFEHOUN > . FH
£ L | HWIERTDEE HIEZE HIE®RDEE ZREA
1.
TERAKE
iy 1,163, 100 0 1,163, 100
BN 1,054, 218 0 1,054,218
. BN 108, 882 0 108, 882
1.
TEMAKE 1,039, 100 3,414 1,042,514
EEER T ' T
- BEHR5EDE 3,414
. BEER 993, 494 3,414 996, 908|113 170 — 116 593
. EENER 45, 606 0 45, 606
IRXE3 124, 000 A 3 414 120, 586
<BERBIUNFK > B FH
£ L | HWIERTDEE HIEZE HIE®RDEE ZREA
.1 .
BARHULA 173, 600 0 173, 600
. WES 28, 700 0 28, 700
=T N 144, 900 0 144, 900
~1 .
BRI 1,097, 700 1,829 1,099, 529
s BEHREEDE 1,829
| BRMAE 542, 931 1,829 544,760 ™ 67 136 — 60, 265
. EEEES 21,262 0 21,262
. EEEEBAE 12, 626 0 12, 626
. BBE 520, 881 0 520, 881
IR E3 A 924,100 A 1,829 A 925,929




K B A K # # F ¥ £ §
<URFSHIIRZE > B FH
=% H HIERTDEE HIE%E FHIERDEE EEA
1.
KB K 5,010, 400 0 5,010, 400
Sl E T T
E-EIE:: 4,552, 089 0 4,552, 089
| EESRNE 458, 311 0 458,311
T,
KB RS 4,991,300 10, 805 5,002, 105
EXERA Y ' T
. BERA 4,571,120 10, 805 1,581, 925| B ELHE ST 10, 802
. EENER 420,180 0 420,180
I E3| 19, 100 A 10,805 8, 295
<EARMILZ > B FH
= 15 HIERTDEE HIE4E HHIERDEE A
T
BRI A 244,100 0 244,100
| 93, 600 0 93, 600
TR 139, 503 0 139, 503
. EEIRA 10, 997 0 10, 997
T
AXp 2,541,000 2, 641 2,543, 641
| RRWAE 1,825, 412 2, 641 1,828, 053 *§§§*§§§%§93ﬁ§10§’gj;
TEEEES 647, 059 0 647, 059
. BEEEBAR 68, 529 0 68, 529
I A 2,296, 900 A 2,641 A 2,299 541




MEREICHOIBERSEDHELRE (EXTH)

(BfI:FH)

12 H fHIEEE
ekt 10, 345
BEFIF 7,200
Hh iz F 5 614
HRFH 3,499
HMFS 3,087
HEE 1,144
a &t 18, 689




